

$$\frac{\alpha + \beta}{\delta \beta^2} = \frac{\alpha \beta^2 + \beta^3}{\delta \beta^4} = \frac{\beta^2(\alpha + \beta)}{\delta \beta^4} = \frac{\alpha + \beta}{\delta}$$

$$= \frac{5^2 - 2 \cdot 1 \cdot 5}{8} \quad 5 = 0, 1 \cdot 2 = 2 \Rightarrow \frac{120 - 10}{8} = 14 \quad \checkmark$$

$$-2 \quad \frac{-b}{a} = \text{جمع ریشه} = \text{مضرب از آی تابع}$$

$$-2 \quad \Rightarrow \text{جمع نقاط هم عرض ثابت است} \quad -1 \cdot 8 + 5 = 11 \quad \checkmark$$

$$-3 \quad \frac{\sqrt{\Delta}}{1a} = \frac{\sqrt{b^2 - 4ac}}{1a} = \frac{c}{a} \quad \Rightarrow \quad \frac{c}{a} = \frac{14}{8} \quad \Rightarrow \quad \frac{c}{a} = \frac{7}{4} \quad \Rightarrow \quad c = \frac{7}{4}a$$

$$\Rightarrow \left[\frac{c}{a} \right] = [7, 8] = 7 \quad \checkmark$$

$$5 = \frac{-b}{a} = -\frac{0+5}{2} = -2 \Rightarrow b = 2a$$

$$\alpha^2 + \beta^2 = 8 \Rightarrow 5^2 - 2 \cdot 1 \cdot 5 = 8 \Rightarrow 25 - 10 = 15 \neq 8 \quad \text{پس } \frac{c}{a} = -\frac{1}{2} \Rightarrow a = -2c$$

$$y = \frac{-\Delta}{4a} = \frac{-(b^2 - 4ac)}{4a} = \frac{-(2a)^2 + 4ac}{4a} = 1 \Rightarrow \frac{-4a^2 + 4ac}{4a} = 1 \Rightarrow \frac{-a + c}{a} = 1 \Rightarrow c = 2a$$

$$\left| \frac{1}{2} \right| \rightarrow \text{جواب} \quad \checkmark$$

$$-8 \quad x^2 - 8x - m = 0 \quad \Delta > 0 \Rightarrow 64 + 4m > 0 \Rightarrow m > -16$$

$$\frac{-b \pm \sqrt{\Delta}}{2a} < \frac{a}{r} \Rightarrow \frac{8 \pm \sqrt{64 + 4m}}{2} < \frac{a}{r}$$

$$\Rightarrow 8 \pm \sqrt{64 + 4m} < \frac{a}{r} \Rightarrow \pm \sqrt{64 + 4m} < \frac{a}{r} - 8 \Rightarrow \sqrt{64 + 4m} < \frac{a}{r} - 8 \Rightarrow m < \frac{-a}{r}$$

$$m > -\frac{16}{r} \wedge m < \frac{-a}{r} = \frac{-16}{r} < m < \frac{-a}{r} \Rightarrow \text{شامل} \Rightarrow \{-4, -2, -1, -3\}$$

۲

✓ صحیح

